Wibis AG

Obfelderstrasse 31

8910 Affoltern a.A. =

Telefon 044 761 63 36 NX 1502+1502SS/HKX 1502 Waschewagen, 2x100 | - Sack
info@wibis.ch Zeichnung Nr.  103-01 vom 01.08.2002

Pos. Artikel-Nr. Bezeichnung

1 628266 Stoffsack 100 I, schwarz
618461 Stoffsack 100 I, braun
2 418182 U -Rahmen blau
418040 U - Rahmen rot
418041 U - Rahmen griin
418042 U - Rahmen gelb
418043 U - Rahmen schwarz
418183 U - Rahmen braun
318184 U - Rahmen aus Edelstahl
21965V Sechskantschraube M 6 x 40 mm
219007 Unterlegscheibe M 6 Form B
219200 Abstandbuchse
418133 Grundrahmen blau
418132 Grundrahmen rot
418134 Grundrahmen griin
418135 Grundrahmen gelb
418136 Grundrahmen schwarz
418196 Grundrahmen braun
318190 Grundrahmen aus Edelstahl
7 20638V Rohrverschlu3stopfen
8 219224 Sechskantschraube M 6 x 55 mm
9 226006 Abstandrolle
10 219080 Hutmutter M 6
11 204020 Chromkappe 8 mm
12 418241 Drehzapfenbolzen
13 226007 Abstandhalter
14 418128 kleiner Grundrahmen blau
418127 kleiner Grundrahmen rot
418129 kleiner Grundrahmen griin
418130 kleiner Grundrahmen gelb
418131 kleiner Grundrahmen schwarz
418195 kleiner Grundrahmen braun
318189 kleiner Grundrahmen aus Edelstahl
15 204060 Rad 75 mm, steckbar

(o236 IR SN OV)



Martin
Explosionszeichnung


